Socialism in Europe and the Russian Revolution

Assertion & Reason Type Questions

Directions : In the following questions given below, there are two statements
marked as Assertion (A) and Reason (R). Read the statements and choose the
correct option:

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

b. Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

c. Assertion (A) is true, but Reason (R) is false.
d. Assertion (A) is false, but Reason (R) is true.
Q1. Assertion (A): The concept of socialism gained popularity.

Reason (R): When Stalin came to power, he imposed the policy of collectivisation in
agriculture.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q2. Assertion (A): Russian Revolution was considered as an important event in the
world history.

Reason (R): Russian Revolution led to the establishment of socialism.

Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q3. Assertion (A): The nobility had monopolised all the higher positions in
government.

Reason (R): Stalin declared peace and announced his decision to withdraw from the
First World War.

Answer : (c) Assertion (A) is true, but Reason (R) is false.

Q4. Assertion (A): Bolsheviks wanted to transform Russian society by uprooting
autocratic ruler.
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Reason (R): They campaigned against the war and for peace on the basis of no
annexations.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q5. Assertion (A): The Russian Revolution put an end to the autocratic monarchy in
Russia.

Reason (R): The Non-Russian were given freedom to develop their own languages
and cultures.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q6. Assertion (A): Radicals felt that men of property should have the right to vote.
Reason (R): Radicals opposed the privileges of the rich or the men of property.
Answer : (d) Assertion (A) is true, but Reason (R) is false.

Q7. Assertion (A): The Russian Social Democratic Workers' Party had to operate as
an illegal organisation.

Reason (R): All political parties were illegal in Russia before the year 1914.

Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q8. Assertion (A): The impact of the Russian Revolution was felt globally with
communist parties being formed in many countries.

Reason (R): Many Indian writers were impressed by the Russian Revolution and its
ideals.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
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